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Q3 - Warp Zone Repair

(15 points)

Description

In future days, there’s a spatiotemporal teleportation machine, which can be teleported to the
other time. One day, the existence of chaos — The Great Devil Electric Bear, shuffles the
teleportation machines at various timelines together for fun. This is actually very dangerous. If
user use the incorrect teleportation machine that should not exist at that time, it may cause the
time paradox and make the user scatter and disappear. To avoid this dangerous situation
happening, you, a spatiotemporal manager, need to keep all the spatiotemporal teleportation
machines in their time.

However, because spatiotemporal teleportation machines of each timeline are always in the
same place, it is impossible to directly transfer the teleportation machine to the correct time,
otherwise the substances of the machine will overlap at the same coordinates. But on the other
hand, you can spend a blaze rod to exchange two machines at any two time points.

So, the question is, what is the minimum number of blaze rods do you need to spend to make all
the spatiotemporal teleportation of each timeline in the correct chronological order?

Input Format

The first line of the input contains two integers N, M, denoting the number of fire ships Little Y
sent, and the number of Cao Cao's chained ships.

In the next M lines, the i-th line contains two integers x;, t;, denoting that the i-th fire ship will
arrive on position x; in time t;.

The first line of the input contains one integer N, denoting that there’s N spatiotemporal
teleportation machine at various timeline requires you to transfer them to the correct time.

The second line of the input contains N positive integers, x;, denoting that this machine should

be exist in time x;. Note that x; satisfy the constraint that all the x; are the integers from 1to N
and any two numbers are different from each other.

Output Format

Print how many blaze rods do you need to spend at least to make all the spatiotemporal
teleportation of each timeline in the correct chronological order.
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Data Range

® 1<N<1000000

Input Example 1
4
12 34

Output Example 1
0

Input Example 2
3
2 31

Output Example 2
2

Input Example 3
4
21 4 3

Output Example 3
2

Example Explanation:
In example 1, all of machines are sorted in right chronological order, so you don’t need an
additional blaze rod for any exchange.

In example 2, you need to exchange 2 and 3 with blaze rod first, so that the sequence becomes 2
3 1. And then exchange 1 and 3 with the second blaze rod, so that sequence becomes 1 2 3.

In example 3, you need to exchange 2 and 1 with blaze rod first, so that the sequence becomes 1
2 4 3. And then exchange 4 and 3 with the second blaze rod, so that sequence becomes 12 3 4.
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